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Q1. Choose the correct answer. 1X10=10 SHsperne Sz Je.1 Ay
1. Which is the softest metal? e/ eerfr Lfcjf 1
Zn (D) Al (C) Ca (B) Na (A)
2. Ayellow solid element exist in allotropic forms which is also present in ,»_;gyﬁuﬁkj,jj’}g;,fﬂfdﬁj_,gjf_fjg’-';,;ﬁ-}_uﬁ{jiévg 2
fossil fuels.Indicate the name. \ ¢ .H_LJT;EE« |
Sulphur 3 (D) Aluminium (=51 (C) lodine /57 (B) Carbon (7.6 (A)
3. The elements presentina ......... show a gradual change in the ;ﬁifﬁw&_g’@};—; ur:;.,"urﬂ; “-"f;_;:,-ﬁg:__,m 3
properties:
None U }¢(D) Family g (C) Group ._;,s/‘; (B) Period 4z (A)
4. All the elements of IIA are less reactive than alkali metals.This is o h-"r:,f,;ff_,;,_;,-uﬂ ,;_;ﬂ_ffrd,, H/.:..r?bf- J‘/:{E'J U ZIA 4
because these elements have: Ut
7. ¢ (D) FF L% 0(C) A Lbiml e (B) SaF7T8 (A)
Decrease nuclear charge Similar electronic configuration Relatively greater atomic sizes High ionization energies
5. The atomic radii of the elements in periodic table: :J:L ks kb b/u‘r{j:'f i ,ﬁuﬁdr:b _I’EEL)& 5
q_t’ﬂﬁ/.___i:_-:.,;ﬂ ﬁ.?:j(D) t’ﬂufptfpﬁﬁz.uﬂpﬁ%ﬁ (C) q.ﬁ*f{J)p(é;.,;:FUﬁT};ﬁ(B) LR ;.Q:JL Wy (A)
Decrease from top to bottomina Do not change from left to.right in Increase from top to bottom in a Increase from left to right in a
group a period group period
6. How many blocks are present in modern periodic table? ;L{_:Jgfbfw{ugukf_@wduﬂ B
5 (D) 4 (C) 3 (B) 2 (A)
7. Which is strongest oxidizing agent? e NI e St T
lodine /57 (D) Bromine ¢ (C) Chlorine 7.+ (B) Flourine ¢/ +* (A)
8. The minimum amount of energy which is required to remove an I;'Lerf'/;r;lﬁﬁj Ffb(‘-:";‘:';é- Li_gfwj/‘.gj;_uf U"'—J-L-L._—-Jbg{fﬁj 8
electron from valence shell of the gaseous state of an atom is called: -
Potential energy ./ J::ﬁ"-;{ (D) Electronegativity (¢ 2% 241 (C)  Electron affinity &*1s 2211 (B)  lonization energy /17t (A)
9. The ability of an atom to attract the shared pair of electrons towards 9
itself in a molecule is called: sl
Shielding effect null (D) Electronegativity null (C) Electron affinity null (B) lonization energy null (A)

10. 1 pm is equal to:
10'° (D) 10" (C)

Q2. Write short answers of the following questions.

| . Why does the size of a period increase as we move down the
periodic table?

Il . What is the first element of the periodic table? Will it lose an electron
or gain it?
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Il . Define normal or representative elements.

IV . How many elements did Mendeleev arrange and what mistake did
he make in his periodic table?

V . Is atomic size always increases by increasing atomic numbers?
VI . Define atomic radius. Give example.

VIl . What is the advantage of metallic character of metal?

VIIl . Define electron affinity. write down its unit.

IX . Atoms become large with increase in their atomic number but why
this does not always occur?

X . Define first ionization energy?

Q3. Write detailed answers of the following questions.

1. Which physical properties of elements may lead us to know what type
of bond it will form?

2. Why do second and third periods have equal number of elements
while all other periods contain different number of elements?
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